O|APFG 4] x2+8x—a = 0 ] T 7H o, o]AFFAA] x2+-ax—4a =
0 o] &= otH?



x2 4+ 3x -1 o tis}te] ok

oz} f(x)

2.

@ f(-1)=3 ® f(1)=3

@ £(0)=0

® f(-2)=4

@ f(2)=5






=7

@D 8cm

® Tcem

3 6cm



B 1

dry = —g(x +3

Hgiygi g,y F2
n 9] & Fotei=t

Ct-

Ch:



6.

oA A 42 - ax+8a — 0 O] T 2ol 8 U W, T 5 2L AL
[a 1]
57

@ th2 gt 2L 8x - 16 = 0 o] ot}

@ FolH LS (x+p)? = ¢ 9 E= YA
p=-6, g=40°|th

DOe,0 0,0 0,0 ®o0o6e 66,0



@ 17 3 19 @ 21 3 23

D 15



7127 QI2ET 5em ¢ 71 AASE 1
%‘0]7]' 9}\‘:} L‘ﬂ E%o] oﬂ/\i j_%]_—]q_ 7}_01
Ho| 2¢m 0 AALZFE-S #at Balv} 98¢

A ARE TET Ag A4

Folo] golg otofzt.

a =R cm?







o X
T:)—l_

=

)2+

3

o 1
2

syeit

A

y 9 gk
]_
=

S

@
X
>
10 7
F—_]
s X
], x 2] 7
H/]\-o]
=
[e)
]'



